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SN BTER SHSHMYR
Hr: SNSX HM U EM(AQ - EA)AWNUT/SALENST)
=t HEE EARA =D EEED
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
SE - SHXN? SR 283 20,000
202 OH| 18,000 15,000 3,000
01 2L AL 18,000 15,000 3,000
OERDIY g€= & |aJ|2 2 18,000
SENsX g45H(=1) 30,000 57,000 A27,000
[ 30,000
201 L2 30,000 18,000 12,000
= 30,000
01 AtR2telbl 16,000 8,000 8,000
SNz 22 16,000
s 16,000
03 HAH2ZHI 14,000 10,000 4,000
O=U SXN=IEE Iz 14,000
[ 14,000
SE 2 SAXT JIBEL (MY - SAIGLUHXI /A E 357,316 651,120 N293,804
E- 055
SE % SAHKXF HE 357,316 651,120 A293,804
ANEgy ge=d 2,400 2,000 400
202 O] 2,400 2,000 400
01 =L 2,400 2,000 400
OXggs ge=d 2,400
S8 & SAHAXF g 354,916 649,120 N294,204
201 =3 43,430 11,620 31,810
01 AtR2telbl 4,000 0 4,000
Os% ¥ SHXF 242X FA2el 4,000
02 3224l 39,430 11,620 27,810
O=d% ¥ SHKXF 242X FX2el 39,430
401 AlEHIZL 2 OHYI 311,486 621,000 A309,514
01 AlZH| 311,000 620,000 A309,000
O=E % SHXNF ZdRX =A2el 94,000
OILAHE & AAHE HE =& 217,000
03 A& S CHYI 486 1,000 A514
O5% ¥ SHXF 242X FA2el 486
HH2IAH(SHSAHALR) (OIEHDIIE 26,828 25,867 961
Jl=2dsl 26,828 25,867 961
A2 Jl=2Z] 26,828 25,867 961
201 L= 16,323 16,042 281
01 AFS2t2ltl 16,323 16,042 281
FA2E ARl 16,323
202 044l 7,505 6,825 680
01 2L 7,505 6,825 680
SEM2E8 U0 7,505
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